
Pos # Model # Description

1 621 Base for gong stand, assembled

2 622 Vertical support for gong stand, assembled

3 623 Height adjustment rod and holder for gong stand, assembled
4 624 T-piece for gong stand, assembled
5 625 Damper and damper holder for gong stand, assembled

Damper and holder not available separately

6 626 Hanging hooks for gong stand, 2 assembled pieces

Hooks only available as a set of 2

7 627 Mallet hook for gong stand, assembled

8 628 Shore for gong stand, assembled

9 PB132 Quick release indexing pin, M12 x 1.5

10 PB522 Wingnut open ( wingwidth 40 mm ) m8 black

11 PB427 Plain washer m8, black

12 PB100 Flat countersunk square neck bolt m8x30

13 PM023 Clamp for connection piece, black

14 PB329 Selflocking hexagon nut cleveloc m6, black

15 PB022 Hexagon head bolt-steel m6x70

16 PB509 Wing-screw plastic (wingwidth 40mm ) m8x20

17 PBW12 Wheel, 100 mm, with double break

18 PB408 Plain washer m10

19 PB206 Hexagon socket head cap screw m10x35

20 PBS15 Push in plastic plug, black (40 x 40 x 3)

1


















2

3

4

16

6

5

7

8



9

19          

18

17

20

16

Parts Schematic
Gong Stand

10



15

11 12 13 14

Each connection uses the same clamp and hardware.

Gong Stand | Parts Schematic Adams Musical Instruments | Version 1.0  | January 2014 


